PITT Qube MS-252RT25-AAA-0
ORMEASEBROBEFT>TEY A, DEMIEFERKERETHIENHYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/03/25 13:03:58



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE & g - ME ERE  Eff S
1 045846501  |MS-252fRD7 44943 1 2,000|(N)
2 045260703 |MS-252 K> 7AMK T 4,300
3 045261201  |MS-252 £°AbvAyN T 2,000|(N)
4 045130001  |KV-ER 7° 99~ FCD 1 6,000
5 045264701 |MS-252 7°yo4-1 48 1 500|(N)
6 045127601  |MS-400 t° ANV PA 2 1 200|(N)
7 045127702  |MS-400 £ AMVE 41 PA 1713 1 200|(N)
8 045130101  |MS-4000RKFH F SUS 1 300](N)
9 045265001  |MS-252 RAKF 55— SUS T 400|(N)
10 |045264901 |MS-252 B/KFAMN - SUS 1 200|(N)
11 |045264802 |MS-252 HIy-IA (BRI U7) FKM 1 1,700|(N)

SW16x24x6
12 045133102 |MS-400 t°ANV9-4B FKM 1 3,000((N)
13 045137401 |[OUVF p26xp2 |1 200|(N)
FKM
14 045148402 |MS-400 #hy-IC NBR 1 500|(N)
15 |045268601 |[AANMHRIL SUSM5'50 |1 200|(N)
16 |045269201 | \xEZ SUS ¢ 5 1 200|(N)
17 045269101 |TEZ SUS ¢ 6 2 200|(N)
18 [045268901 |3 RELATFARNTRNXD SUSM5x16 |3 200|(N)
19 045150701 |OUV% P5 FKM 1 200|(N)
20 045271101 |MS-252 7° 9941 4N ¥v97° 1 300](N)
21 |045260805 |MS-252 t° AN/h-2 T 1,600
22 045266901 |MS-252 9v5 {7 SUS 1 4,000|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE i RE - ME B EM wE
23 (889857022 |OYyy P22 FKM 1 200|(N)
24  |045282801 [0V P21 FR 1 200((N)
25 (889857906 [0V FR P255 |1 200|(N)
26 |045261101  |[MS-252 N 7" " - 1 700[(N)
27 |045265201 |[MS-252 IR AN 7 3B X 1 700((N)
28  |045265301 |MS-252 BR AN 47" 1 300[(N)
29 |045265401 [MS-252 N W7 A7°UvY 1 200|(N)
30 045260901 [MS-252/84 /SR A{K 1 900
31 |045261401 |MS-252AER T v 7% ¥ 1 400|(N)
32  |045265502 |MS-252 EHARA 1 400|(N)
33  [045271202 [MS-252 RKFHEE Sus 1 800((N)
34 |045267302 |MS-252FHFRAERT) VT SUS WPB 1 200|(N)
35 |045261001 [MS-252AFE/ 7 1 400
36 |045268701 |RANRMRIL b SUS M5x40 |1 200((N)
37 045283001 [OVyy S6 NBR 1 200|(N)
38 [045283101 |OYvy” S14 NBR 1 200|(N)
39 [827605005 [AfFv bk SUSM5 27 (8 200[(N)

+ B
40 [889857901 |OY»4” PIOAFKM |1 200|(N)
41 045271001 [3RELZRFTERMFN©RY SUS M5x25 [4 200|(N)
42 045268801 [3mtELRAANRMRIL L SUS M6x55 |4 300[(N)
100 [045846403 [MS-252E€—%—7% 3 1 18,200
00 [045292901 [MS-252 a{yFhn - 1 300[E-9-93ER & (N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. mE i RE - ME B EM wE
00 |045292801 |MS-252 a{vF 1 700[E-5-93EB & (N)
00 [045293001 [MS-252 7 b-#- 8A 1 700[-9-93ER & (N)
00 [045293101 [MS-252 N 4nyb577° 1 300[E-9-93ER & (N)
00 (045293201 [MS-252 EiR1-M 1 900(t-9-93IRER G
101 |045846605 [MS-252: K> 74 3 1 11,700[42F <
00 [045269901 [MS-252 KOSHINS ~JL 1 400|(N)

00 [045276401 |MS-252RT25-AAA-0$44R 1 300|(N)
00 [045270201  [MS-252 SW-7"b-h-3A" 1 200[(N)
00 [045270301 |MS-252 AES NI 1 200|(N)
00 |045270401 |MS-252@&EXMES NI 1 200|(N)
00 [045263401 [MS-252 fAE / FTHRIERD SR 1 300[(N)
00 [045276702 |MS-252RT25 HXt A4 P24 1 O[(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




PITT Qube MS-252RT25-AAA-0
O&MEAREEHRDRTIET>TEY T A DEMIEFERKERETHIENHYET,
OXRTMERIOEERIEEENTEY T A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved. 5 2025/03/25 13:03:58



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE & - HME B Eff e
43 045842002  [mtHF-243 PVCE® 1 6,400|DP-141(4971770-102569)
DIC576
¢ 6x20M
44 045094902 |MS-2501TDF=v TRy F VA PVC 1 200((N)
45 045095001  |[MS250%5/3297° b 9%B 1 200|(N)
46 045250002 |MS-ER25T tVy ¥ - ADC 1 1,400
47 857639040  [91-7"79y4- WW-40 1 200((N)
48 |045136601 |MS-400R /vy RJL PA 5 V- DIC- [1 400
G49
49 045145502 |MS-400R A5 —/%4 7 STPG 1 400|(N)
50 045135002  [MS-400R #-2Y-MalFR 707 b 1 4,100
51 045135102  |MS-400R #-a!)-MaIR "7 ADC W - |1 4,400
52 045147401  |MS-400R V-1 47° (48) AL B L=50 |2 500
53 045106104 |MS-2503 Y & L (TWi") 8.590° Y |1 3,200|(N)
54  |045150502 [MS-400R IV} N 47° STKM 1 2,800|(N)
55 707805049 |V REELHATFIUTIAT MY M5x20SU [12 200[(N)
S
56 |735705101 [NARIL MIEEHTFELE M6x18SU (3 200|(N)
S
57 703905134  |[+F 7T bahay’ SUS M8x45 |1 200|(N)
58 (846505008 |FE£ SUS 1 200|(N)
ISOp8x ¢ 17
xT1.6
59 827405008 ["EF v b M8 1&dh |1 200((N)
U
60 045700602 |MS-252RT25 IRAKR—R 7 X 1 1,300
61 045109401  |MS-2500% A#F-aN° v¥Y 1 200|(N)
62 045180301 MS-251 Ahb-F-/N(Ayyadst) 1 1,800
63 045185902 [MS-251 ¥ 1t yn v 20 1 400|(N)
64 |045831602 [MS-251RT25%KK—2 2.5Mx1/3 |1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE i RE - ME B EM wE

65 |045821003 |MS-400R Y-IiEfh-243 $8.5x0.35M |1 4,300((N)

66 |045835704 |MS-251 ¥a-}/3 W43 1 7,700|DP-152(4971770-106154)

67 |045204101  [MS-251HE#Rvy7° HR 1 700((N)

68 |045205901 |MS-2510&EHR SUS 1.2 |1 400|(N)

69  [045204201 |MS-251M&E#RN v4Y NBR 1 200((N)

70  |045222201 [{BYW 5 V7" /I3 VAR PC 1 700

71  |045197104 |[MS-251RT2525L% >~ ¥ PE 1 17,000

72 045152101  [TK-50N M Lv4ey7° 0 w4y CR 1 300[(N)

73-1 [045166601  [TK-50N } Lu4¢y7° PP 5" L-DIC- |1 O[(N)
G49

73-2 045166602  [TK-50N } Lu4¢y7° PPALYY |1 200|(N)

73-3 [045295201 [ES-10 } L4vy7° (H) 1 200((N)

74  |045832202  |MS-4 §uh%4y7° 53 PVC 1 2,000

75 045013403  |MS-4%v5%497° %" 4 PP 4 L~ DIC- |1 0|NO.74 /3 THEtA
G49

76  |045078401 [RM-107Y —H—RKv o 1 200|(N)

77 040048003 |HS-251 A hL—F— PP B 1 200|(N)

78 045014003  [KK-18X #uh%vy7° I v&y NBR 1 500|(N)

79 045199002 |MS-251RT25 4743 A1 vy EPDM £& |1 500[(N)

80 [045162802  [TK-50N Apv-1-5Yy7° SUS WPB 1 800

81 |045093305 |KK-18XRA kL —7F— PE 1 1,400

82 [045830403 [MS-251RT25 7V-h53A 1 8,700

83 |045830506 [MS-251RT25 7L-h)3B 1 9,200

84 045831303 [MS-251RT25 m/h 143 1 4,700

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MS-252RT25-AAA-0
O&BfMEFERKEESTHIEADYET,
OERHEIFIRBEA DAY £,

No. mE SREZ G - ME BRI EfM S

85 045198903 |MS-251RT25 7b-i4C SPCC T=2.0 |2 1,100

86 |045817802 [TK-50 91 v TUBELESS |2 3,100
$210

87 045284201 |7y v $20°37°T3 |2 200|(N)

88 |847302087 |BEIEY 4x36 2 200|(N)

89 |063020501 |JLM NBR 2 300

90 045239101 |MS-251RT25&&N 17° ¢ ¥ PP DIC-G49 /|2 200|(N)
P

91 045191901 |MS-251RT25 MK 497 PZ-8 2 200|(N)

92 |743120058 |MAN BIZhESMERASARIL M8x65 4 200|(N)
SWRM

93 045199101 |MS-251RT25 N AT %t97° PP 2 2 200|(N)

94 734620043 |EREEMARANGRIL K M6x10 8 200|(N)
SWRM

95 |045197302 |MS-251RT25 /7 & Wb M8x35 & |2 400

96  [743119045 |MiF BIZREESMEANES I M8x20 |2 200|(N)
SWRM

97 |827419008 |~EF v Kk M8 1/&F |6 200|(N)
SWRM

98 |045213602 |MS-E2R25TAR—/Lv 7 G(PR1/4 |1 1,400](N)

99 045335902 |MS-252RT25 h—RRX T v SUS 1 600](N)

700 |045205301 |MS-2510 /& h=FH1-47N v¥/79%% NBR 1 200|(N)

101 045847401 |MS-251 /3 JAJE LR 1 1,300](N)

102 |045203901 |MS-251 /A WOUYY NBR 2 200|(N)
$1.9*8.2

103 045711701  [va-MA MR F—{AA 1 1,300

104 |045702306 |MS-251RT25 #-A)-I)3B 1 19,400

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/25 13:03:58




